Signature and Name of Invigilator Answer Sheet NO. : .........coceveveenerceenerneneennenne
(To be filled by the Candidate)
1. (Signature) Roll No.
(Name) (In figures as per admission card)
2. (Signature) Roll No.
(Name) (In words)
Test Booklet No.
D—-8207 PAPER —1I

Time : 1%4 hours]

FORENSIC SCIENCE

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of this

page.
This paper consists of fifty multiple-choice type of questions.

gt o foag fder
1. T8 g8 o SR o T W A9 Ia TR faten |
2. TOYE-TH § U agfashedia e €
3. e R B W, Yo~ YRRt ST9eR! < < ST | TR i e

10.
11.
12.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :

(i) Tohaveaccess to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a
booklet without sticker-seal and do not accept an open
booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the question booklet
will be replaced nor any extra time will be given.

(i)  After this verification is over, the Serial No. of the booklet
should be entered in the Answer-sheets and the Serial
No. of Answer Sheet should be entered on this Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Bample: (2 ® ©

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test question booklet to the invigilators
at the end of the examination compulsorily and must not carry
it with you outside the Examination Hall.

Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.

There is NO negative marking.

YT Yo R T o1 STkt Frefafaa site & forg &3

ST TSRt St STTIeh! ST A ©

(i) TRA-gRKeR Eier & foTT Sk e U1 T &t TSt ht
T ! RIS T | Gell gg A1 o Rie-Hia i giRaeht
AR AH|

(ii) O YUY T BY FEITTHR U9T-YTehT o U A4T U9 et
AT o 3T NE ook Y ot Toh A UTE | TogUi giaent
T g/ woe o w & T gET o T & A e A E
reia feReit ot W T FfeUUT UfTehT iehT 7 aht qerm
ST TH S A ETeRT S8k T UR T8t Ha WoeT-gfent
A | THR Forw 3mmaent e fire fed oIt | Seeh eg =
T MUK YYT-YRTeRT AT T ST 3T T & 3Taeht
sifafies wwe fear ST |

(iii) T = % 1S IO - YRR i HH HEAT STk W Sifh
Y SR ST ! FHH T 39 T -Tfeent W 3iferd F
K

T T feTT R S fashed (A), (B), (C) 7 (D) fed m § 1

STIHT T ST o eI BT T R HTeAl HEAT € ST o =y

T T

s CAD ® O

& (C) TE IW T

T o S heel U9 U 1 oh S1aY e T8 STk W E SHfeRa

FA B | AfE 3 SR o W g3 T3 e o st fohdt o=t

T W IW FogifeRd F ¥, A TR JeaienT 721 e |

a1 g 3 Frdeil =t eAmgele 9g |

%= & (Rough Work) S5 gfeiet o 1f<am 98 W |

FfG AT ITR-GRTRT TR ST AT A1 T s off e Foresy et

Te= B Gk, TRt off 9T R g A SifeRd K ¥ o Tlen %

e sreima s R o3 ST |

YT TeT THTE B R IT-Yfaqeh Friersh 7eIcd 1 @l

TeEe § S TiaT TAIY o o5 ST |ref el e ¥ sl 7

TR ST |

10. ShaeT Sl / ehTel SITeT WSS U ohT & SEIHTe o |
11. TRt off W hT HITUTeR ( heTehele ) AT @IT oIet 3Tfe <ht

TR afia sl

12. TTeTd 3T o foTu 37eh & sh1e ST |

D —8207

P.T.O.



FORENSIC SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. G.E.Q.D. is not at the following place :

(A) Shimla (B) Delhi
(C) Hyderabad (D) Kolkata
2. Teaching of Forensic Science was started for the first time at :
(A) Delhi (B) Sagar
(C) Dharwad (D) Chennai
3.  Leading questions are asked in the trial of a case during :
(A) Examination-in-chief (B) Cross-examination
(C) Re-examination (D) None of the above
4.  Dried seminal stains from clothing are preserved :
(A) in 10% formalin (B) in 20% formalin
(C) in 40% formalin (D) as such
5.  Forsensic Scientist is exempted from appearing in the court of law under section :
(A) 72 Evidence Act (B) 92 1P.C.
(C) 293 Cr.P.C. (D) 302 L.P.C.

6. The full name of NMR is :

(A) Nuclear Magnetic Resistance (B) Nuclear Magnetic Remittance

(C) Nuclear Magnetic Resolution (D) Nuclear Magnetic Resonance
7. For comparison of bullets, following microscope is used for identification :

(A) Polarizing Microscope (B) Neutron Microscope

(C) Comparison Microscope (D) Fluorescent Microscope

8.  The following type of scale is found on the head hair of human being :
(A) Simple type (B) Flattened type
(C) Elongated (D) None of these
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10.

11.

12.

13.

14.

Match an item in one list with an item in the other list :

List - 1 List - 11
(a) Barrard (i)  Finger print
(b) O. Hilton (ii) Exchange principle
(c) Locard (iii) Documents
(d) Henry (iv) Fire arm
Code :

(@ ((b) ( (@
(A) Gv) (@) @) ()
(B) @) @) @ Gv)
(© @) () (@v) @)
(D) @) (v) (i) @)

This method is used for comparison of two inks :
(A) Column Chromatography (B) High Pressure Liquid Chromatography
(C) Thin Layer Chromatography (D) Gas Liquid Chromatography

The phenolphthalein test is used for screening of the following :
(A) Sweat (B) Semen
(C) Saliva (D) Blood

Takayama reagent consists of :

(A) Sodium Hydroxide, Pyridine and Glucose

(B) Sodium Hydroxide, Glycerine and Glucose

(C) Pyridine, Glucose and Sodium Chloride

(D) Sodium Chloride, Glucose and Sucrose

Absorption election technique is used to detect :

(A) Faecal matter (B) Saliva stain

(C) Semen (D) Blood grouping

Arrange the examination method of blood in the proper sequence :

(i) Benzidine Test (i) Teichmon Rest

(iii) Precipitein Test (iv) Blood grouping
Code :

(A) Gv) @ () (D) (B) Gv) (@) @) (D)
© @ @ 3§ @) (D) @) (@) @v) (i)
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15. Multilocus Probes are applicable to :
(A) Blood groups (B) Chromatography
(C) DNA finger printing (D) Spectrophotometry

16. Match an item in one list with an item in the other list :

List - 1 List - 11
(a) Hair (i) Keratin
(b) Saliva (i) Haemoglobin
() Semen (iii) Choline
(d) Blood (iv) Amylase
Code :
(@ ® () @
(A) @ @) 3@ (@v)
(B) (@@ @) (@v) @
© @ Gv) @) ()
(D) (@) @v) @ ()
17. The offender can be identified with the help of blood examination by the following
test :
(A) Protein enzyme detection (B) Blood grouping
(C) DNA (D) Precipitine Test

18. Estimation of ethyl alcohol can be done quantitatively in :

(i)  Urine (i) Saliva (iii) Blood (iv) Perspiration
(A) (i) and (ii) (B) (ii) and (iii)
(C) (i) and (iii) (D) (iii) and (iv)

19. This is a spinal poison :
(A) Strychnine (B) Yellow oleander
(C) Aconite (D) HCN

20. Crack is prepared by heating this substance with an alkali :
(A) Morphine (B) Barbiturate
(C) Cocaine (D) Amphetamine

21. ‘Speedballs’ is a combination of heroin and :
(A) Cocaine (B) Cannabis
(C) Marihuana (D) Chlorpromazine
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16.

17.

18.

19.
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22.

23.

24.

25.

26.

27.

For comparison of bullets following is examined :
(A) Firing pin marks (B) Striation marks
(C) Extractor marks (D) Ejector marks

Assertion (A) : Choking reduces dispersion of pellets.

Reason (R) : Constriction of barrel at Muzzle end occurs in choking.
(A) Both (A) and (R) are true (B) Both (A) and (R) are false
(C) (A) is true but (R) is false (D) (A) is false but (R) is true

This is used in Molotov Cocktail :
(A) Arsenic (B) Gasoline
(C) Phosphorous (D) Magnesium

Assertion (A) : Entry wound of gun shot injury may contain tatooing.
Reason (R) : Entry wound is smaller than the exit wound in case of a bullet injury.
(A) Both (A) and (R) are true but (R) is not the valid reason for (A)

(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Match the following :
Fibres Burning
(a) Wool (i)  Catches fire
(b) Cotton (i) Melts
(c) Nylon (iii) No effect
(d) Asbestos (iv) Synging effect
Code
(@ ® () @
@A) O @) G @)
B (v ) @ 0
© (v O @) i)
D) () @) () @
Assertion (A) : Medullary Index of hair is helpful in differentiating human and animal
hair.
Reason (R) : Medulla is present only in animal hair

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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28. Assertion (A) : Detection of spermatozoa in semen is a confirmatory test of seminal

stain.
Reason (R) : Spermatozoa is present in semen only.
(A) Both (A) and (R) are true (B) Both (A) and (R) are false
(C) (A) is true but (R) is false (D) (A) is false but (R) is true

29. Differentiation of sex is best possible by :
(A) Pelvis (B) Femur (C) Humerus (D) Tibia

30. Match the following :

(a) Constriction of neck by body (i) Drowning
weight through ligature

(b)  Constriction of neck by hand (i) Hanging

(c) Submerger of face in water (iii) Throttling
(d) Inhalation of poisonous gases (iv) Poisoning
Code :
(@ () (o (@
(A) @) @) @ G
(B) G) (@) @ Gv)
(© G @) (@) @
(D) Gv) @ () ()
31. Richochet means :
(A) Tampered bullet (B)  Unfired bullet
(C) Deflection of the bullet (D) Blunting of the bullet

32. The following are the drugs of addictions, except :
(A) Heroin (B) Barbiturates (C) Opium (D) Nemolid

33. LE.D. means :
(A) Indian Explosive Devices (B) Internal Explosive Devices
(C) Improvised Explosive Devices (D) International Explosive Devices

34. Density gradient is used to identify :
(A) Ink (B) Lacquer (C) Paper (D) Soil

35. Paints can be analyzed by :
(A) Absorption elution technique (B) Electrophoresis

(©) Geldiffusion (D) Pyrolysis gas chromatography
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36. The flash point analysis is used to detect the following :
(A) Copper sulphate (B) Explosives
(C) Petroleum products (D) Vegetable poisons

37. The heavy metals can be easily detected by :
(A) Spectroscopy (B) Electrophoresis
(C©) HPLC (D) Atomic Absorption Spectroscopy

38. Gait of the persons can be identified by :
(A) Body print (B) Finger print
(C) Foot print (D) Lip print

39. The tyre marks on the roadside in a vehicular accident may give an indication of :
(A) Make of the vehicle (B) Height of the vehicle
(C) Weight of the vehicle (D) Whether brakes have been applied

40. Post Mortem staining in a dead body appears on :
(A) Sides of the body (B) Upper parts
(C) Middle part (D) Dependent parts

41. In dead body rigor-mortis occurs after :
(A) 1-3hours (B) 8-10 hours
(C) 10 - 12 hours (D) 12 - 24 hours

42. Ninhydrin is used to detect :
(A) Blood stains (B) Fingerprints
(C) Saliva stains (D) Semen stains

43. The feature of the incised wound is that its :
(A) length is maximum (B) width is maximum
(C) depth is maximum (D) all dimensions are equal

44. The handwriting may change with :
(A) Humidity (B) Place
(C) Temperature (D) Neurological disease

45. Copy prepared by superimposing the document is called :
(A) Simulated forgery (B) Traced forgery
(C) Free hand forgery (D) Asymmetrical forgery
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46.

47.

48.

49.

50.

Erasure of writing by using soft rubber is called :
(A) Soft erasure (B) Mechanical erasure

(C) Hand erasure (D) Chemical erasure

Read the passage below and answer the questions that follow based on your
understanding of the passage :

A crushed dead body having tyre marks on his clothes was found on the highway
at 4 Am. There were skid marks, broken headlight glass, broken paint chips and a
heap of soil at the above scene of crime. There was no eye witness present during the
accident.

The corpus delicti evidence in the case is :
(A) broken headlight glass (B) Paint chips
(C) Blood (D) Dead body

The speed and the size of the vehicle can be determined by :
(A) Skid marks (B) Soil
(C) Splashing of blood (D) Tyre marks

The broken headlight glass can be individualized by :
(A) Visual examination (B) Density determination

(C) Refractive Index (D) Contour matching

The time of death can be determined by :

(i) extent of cooling of body (i) onset of rigor mortis
(iii) broken wrist watch (iv) skid marks
Code : Following combination is correct :
(A) (i), (i) and (iii) (B) (i) and (iii)
(C) (i) and (iv) (D) (ii) and (iii)
-00o0-

D —8207 14
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